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SHIKSHA VIKASH SAMITI, ODISHA

ANNUAL EXAMINATION: 2019-2020

Class - 11 Sub - English (W)
Time - 40min. Full marks - 30
1.  Answer the questions. (any five) 2 X5=10

a) How many hands have you?

b) What colour is the sea?

c) What is the woman doing?

d) What is the baby doing?

e) Is Rekha writing on the blackboard?

f)  Who is going to school?

Make questions using the words given in the
brackets. 2 X3=6

Example - It is ten o'clock. (What)

Ans - What time is it ?
(a) The red flower is in the vase. (Where)
(b) She is skipping. (What)
(c) Sri Nayak is our English teacher. (Who)
Arrange the words to make correct sentences.

1 X4=4

a) father/ helping/you/ your/ are?
b) from /are / field / they / coming / their.
c) a/Sudam/banana/eating/ is.

d) school /Murali / coming / the / from / is.
[1]

See the examples and fill in the blanks.

a) Example - eat - eating

cut -

b) Example - tall - short

heavy -

c) Example - manwo - woman

otherm -

d) Example - cow - cows

bench -

Put 'not' in the sentences.

Ex - I am a teacher.

[ am not a teacher.

a) They are my friends.
b) Ramesh is five years old.

Translate into English. (any two)

(@) QIa 96016 66lle &g |
(&) P90a 9@ AREAR 2L |

() SG6 @8l QR ?

(@) Y10l IQeg |

KR AR )
00 00 00

[2]

1 X4=4
1 X2=2
2 X2=4



SHIKSHA VIKASH SAMITI, ODISHA
ANNUAL EXAMINATION: 2020-2021
Class - 11 Sub - English (O)
Full marks - 20
1.  Bookreading. 10
Lesson : 20, page : 54 of The SER : II (Part : 1)
2. Recite arhyme from your text book with action. 10
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